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o\ ) Solving Sequence
711>10—>6-—>25—>4-—>9-—>1—>3-—>8—>>C1,03,(7
A knot diagranﬂ o G G €4 C9 C11 C2  Cs

Ideals for irreducible component#ﬂ)f Xpar

I = (—u% —u% 4 -, w3 =183+ =20+ a, uB - 2u8 e u—1)
IY=b-1, v +a+2u, v’ —u* —2u® +u’> +u+1)

* 2 irreducible components of dim¢ = 0, with total 69 representations.

1The image of knot diagram is generated by the software “Draw programme” developed by An-
drew Bartholomew(http://www.layer8.co.uk/maths/draw/index.htm#Running-draw), where we modi-
fied some parts for our purpose(https://github.com/CATSTAILs/LinksPainter).

2 All coefficients of polynomials are rational numbers. But the coefficients are sometimes approximated
in decimal forms when there is not enough margin.
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1.
It = (—ub3—u%?+.. .+ b—u, u3*—18u3"+. .. —2u?+a, ub*+2u®+..-4u—1)

(i) Arc colorings

1
ailr = \0
1
alg = —U2
U
a6 = \ —ud +u
—u30 + 18u37 + - - + 6ud + 2u?
GQ— u63_~_u62+._~_u2_~_u
—ud 4+ 2u
as = \ —ud+u
u® +ub? 4 —u? + 2u
ag= \ 83 b2 4 ... 3y
—u?+1
ag = \y? — 242
wl —3ut +2u%+1
ap = —u8 + 4ub — 4u?
w2 4y —1
az = \u3 4 462 4 ... 443 + 242
—ul0 + 508 —8ul +3ut +u+1
ag = —ul0 4 448 — 508 + 2ut — 2
—ul® + 508 —8ub +3ut +u?+1
ag = —ut0 4+ 408 — 5ub + 2ut — w2
(ii) Obstruction class = —1
(iii) Cusp Shapes = —6u® — 4u5% + ... — 13u + 2



(iv) u-Polynomials at the component

Crossings u-Polynomials at each crossing
c1,Cy ut—6uB+. 4+ 3u—1
C2 ub* +30u% + -+ 3u+1
c3,C7 u + 0%+ 4 96u+ 32
& ubt —6u 4. FBu—1
Cg, C9, C10 w2+ -1
Cs ub — 205 4 ... 4 8204u — 1960
ci1 u®t + 14u5 + - 4 2787w + 207




(v) Riley Polynomials at the component

Crossings Riley Polynomials at each crossing
C1,C4 Y% —30y% .- =3y +1
C2 y64+14y63++13y+1
3,7 Y% — 33y5% + ... — 14848y + 1024
Ccs Y 28 4 gyt
C67c97010 y64_58y63+_y+1
c 64 63
8 Yot —18y°° 4 - - - — 40328176y + 3841600
64 63
c11 y o+ 18y°° 4 - - - + 1021851y + 42849




(vi) Complex Volumes and Cusp Shapes

Solutions to I} vV—1(vol +/—=1C8S) Cusp shape
uw=1.004890 + 0.2120521
a= 0.250176 — 1.2569301 3.37131 — 1.860531 0
b= —0.972468 + 0.3307401
u=1.004890 — 0.2120521
a= 0.250176 + 1.2569301 3.37131 4 1.860531 0
b= —0.972468 — 0.3307401
u = —1.055590 + 0.0974121
a= 0.83771 —1.532051 —1.58334 + 2.056661 0
b= —0.452362 + 0.9220721
u = —1.055590 — 0.0974121
a= 0.83771+ 1.532051 —1.58334 — 2.056661 0
b= —0.452362 — 0.9220721
u= 1.08657
a= 0517514 —2.98700 0
b= 1.28011
u= 1.076070 + 0.2434481
a = 0.50549 + 1.44435] 1.75966 — 7.479081 0
b= 0.069484 —0.8316771
u= 1.076070 — 0.2434481
a = 0.50549 — 1.44435] 1.75966 + 7.479081 0

0.069484 + 0.8316771

uw=0.292951 + 0.7252181
a = —3.13866 + 0.472081
b= —2.45175+ 0.826111

2.46662 — 11.299401

—1.16462 + 9.089131

uw=0.292951 — 0.7252181
a = —3.13866 — 0.472081
b= —2.45175 — 0.826111

2.46662 4 11.299401

—1.16462 — 9.089131

u= 0.674453 4+ 0.3864641
a = —0.00066 — 2.555441
b= —1.110180 — 0.5500371

1.05339 + 7.318031

—3.59936 — 4.111661




Solutions to I}

V=1(vol + y/=1CS)

Cusp shape

u= 0.674453 — 0.3864641
a = —0.00066 + 2.555441
b= —1.110180 + 0.5500371

1.05339 — 7.318031

—3.59936 + 4.111661

u = 0.705088 + 0.3024017
a= 0.83956 + 1.153171
0.077388 — 0.2543281

3.02952 4 1.832011

—0.533486 + 0.085386.1

u = 0.705088 — 0.3024011
0.83956 — 1.153171
0.077388 + 0.2543281

3.02952 — 1.8320171

—0.533486 — 0.085386.1

u=0.265999 + 0.7179411
a= 1.40926 + 0.478501
1.178360 + 0.6218231

4.64833 — 5.642591

2.08406 + 5.051771

u= 0.265999 — 0.7179411
a= 1.40926 —0.478501
1.178360 — 0.6218231

4.64833 + 5.642591

2.08406 — 5.051771

u = —0.268310 + 0.6841901
a = —3.11925 — 1.348791
b= —2.29400 — 1.311191

—0.18871 + 5.192991

—2.32409 — 6.824691

u = —0.268310 — 0.6841901
a = —3.11925 + 1.348791
b= —2.29400 + 1.311197

—0.18871 — 5.192991

—2.32409 + 6.824691

u= 0.166461 + 0.7086721
a = —1.78632 + 0.785591
b= —1.57846 + 0.713311

5.88443 — 1.712281

4.06856 + 3.313801

u= 0.166461 — 0.7086721
a = —1.78632 — 0.785591
b= —1.57846 — 0.713311

5.88443 4 1.712281

4.06856 — 3.313801

u = —1.27342
a= 0.512497
b= —0.111947

—2.82174




Solutions to I}

V=1 (vol + y/=1CS)

Cusp shape

= —0.379910 + 0.6183111
0.888593 — 0.9507851
0.785579 + 0.0823291

—1.309430 4 0.2201901

—2.16669 + 0.945201

—0.379910 — 0.6183111
0.888593 + 0.9507851
0.785579 — 0.0823291

—1.309430 — 0.2201901

—2.16669 — 0.945201

0.116871 + 0.7098841
1.79401 — 0.111441
1.312960 + 0.5248851

4.64291 + 3.886341

2.43594 — 2.517071

0.116871 — 0.7098841
1.79401 + 0.1114471
1.312960 — 0.5248851

4.64291 — 3.886341

2.43594 4 2.517071

—0.460178 4 0.5339451
0.637038 — 0.7958101
1.111230 — 0.2365001

—1.65255 + 3.568681

—3.94595 — 7.644271

—0.460178 — 0.5339451
0.637038 + 0.7958101
1.111230 + 0.2365001

—1.65255 — 3.568681

—3.94595 + 7.644271

0.259055 + 0.6533881
1.06464 + 0.976001
0.990905 — 0.1824671

—1.20405 — 2.767751

—0.87874 4+ 6.157711

0.259055 — 0.6533881
1.06464 — 0.976001
0.990905 + 0.1824671

—1.20405 + 2.767751

—0.87874 — 6.157711

—0.204298 + 0.6416781
2.07861 — 0.645631
1.34976 — 0.782691

0.748257 + 0.9391901

0.11212 — 1.460391

—0.204298 — 0.6416781
2.07861 + 0.645631
1.34976 + 0.782691

>~ Q@ €| Q@ €|l & €| & &8 Q& 8|l & 8|l & 8|l & 8|l & 8| o g
Il

0.748257 — 0.9391901

0.11212 + 1.460391




Solutions to I}

V=1 (vol + y/=1CS)

Cusp shape

= —1.319680 + 0.2704631
0.628923 — 0.5555721
2.00427 4- 0.117921

0.150980 — 0.3471161

—1.319680 — 0.2704631
0.628923 + 0.5555721
2.00427 — 0.117921

0.150980 + 0.3471161

—1.353850 + 0.2783921
= —0.922498 + 0.5720741
—1.59733 — 1.653231

1.08775 + 5.281171

—1.353850 — 0.2783921
—0.922498 — 0.5720741
—1.59733 + 1.653231

1.08775 — 5.281171

—0.556271 4 0.2577381
1.06140 + 2.711581
—0.484179 + 0.6788801

—1.60289 — 1.704951

—6.10429 4 1.651681

—0.556271 — 0.2577381
1.06140 — 2.711581
—0.484179 — 0.6788801

—1.60289 + 1.704951

—6.10429 — 1.651681

1.387450 + 0.1868511
—0.335032 + 0.4552891
0.124901 + 1.4010001

—5.22435 — 3.564481

1.387450 — 0.1868511
—0.335032 — 0.4552891
0.124901 — 1.4010001

—5.22435 + 3.564481

1.384430 + 0.2501181
0.470700 + 0.9755931
2.41332 + 0.377581

—4.32280 — 4.183881

>~ Q@ €| Q@ €|l & €| & &8 Q& 8|l & 8|l & 8|l & 8|l & 8| o g

1.384430 — 0.2501181
0.470700 — 0.9755931
= 2.41332 —0.377581

—4.32280 + 4.183881




Solutions to I}

V=1(vol + y/=1CS)

Cusp shape

= —1.410150 + 0.0916211
0.171722 — 0.4461031
—0.051337 — 0.8691471

—3.31779 — 0.731491

—1.410150 — 0.0916211
0.171722 + 0.4461031
—0.051337 4 0.8691471

—3.31779 + 0.731491

—1.404660 4+ 0.1565121
= —0.481712 — 0.8237981
1.44039 + 0.275111

—7.96725 4 2.257571

—1.404660 — 0.1565121
—0.481712 + 0.8237981
1.44039 — 0.275111

—7.96725 — 2.257571

1.407530 + 0.1327311
1.36353 — 0.578441
0.66427 — 2.254781

—7.47816 4+ 0.177201

1.407530 — 0.1327311
1.36353 4 0.578441
0.66427 4 2.254781

—7.47816 — 0.177201

—1.40289 + 0.257931
—0.099708 — 0.9748411
0.717554 + 0.2011071

—6.51086 + 6.101141

—1.40289 — 0.257931
= —0.099708 + 0.9748411
= 0.717554 — 0.2011071

>~ & S| @ €|l @ 8| Q@ €| 2@ 8|l @ &8> 2 8|l o =
|

—6.51086 — 6.101141

= 1.40734 4 0.269321
= —1.68136 — 0.998821

—5.53651 — 8.668381

= 1.40734 — 0.269321
= —1.68136 + 0.998821

U
a
b= —2.91941 + 2.364201
U
a
b= —2.91941 — 2.364201

—5.53651 + 8.668381




Solutions to I}

V=1(vol + y/=1CS)

Cusp shape

= —1.40814 4 0.283941
0.280476 — 0.7195271
1.97690 — 0.339141

—0.68966 + 9.283261

—1.40814 — 0.283941
0.280476 + 0.7195271
= 1.97690 + 0.339141

U
a
b
U
a
b

—0.68966 — 9.283261

u = —1.42115 + 0.285341
a = —1.34480 + 1.322141
b= —3.09851 — 1.543011

—3.0092 + 14.97421

u = —1.42115 — 0.285341
a = —1.34480 — 1.322141
b= —3.09851 + 1.543011

—3.0092 — 14.97421

= —1.44601 4 0.104531
0.955221 + 0.8771941
—0.16080 + 1.879651

—5.55732 — 5.804311

—1.44601 — 0.104531
0.955221 — 0.8771941
—0.16080 — 1.879651

—5.55732 4 5.804311

1.44004 + 0.232441
—0.095745 + 0.8535001
0.714563 + 0.1717261

—7.13968 — 3.333081

1.44004 — 0.232441
—0.095745 — 0.8535001
0.714563 — 0.1717261

—7.13968 + 3.333081

1.44782 4 0.189471
—0.258808 + 0.6956941
1.43274 + 0.057131

—7.74951 — 6.191991

1.44782 — 0.189471
—0.258808 — 0.6956941
= 1.43274 — 0.057131

U
a
b
U
a
b
U
a
b
U
a
b
U
a
b
U
a
b

—7.74951 4 6.191991
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Solutions to I* Vv—1(vol +/—1CS) Cusp shape

= —0.234891 + 0.4642211
0.496892 — 0.9206821 | —0.038168 + 1.1183201 | —0.73760 — 6.334691
0.051241 — 0.4440071

—0.234891 — 0.4642211
0.496892 + 0.9206821 | —0.038168 — 1.1183201 | —0.73760 + 6.334691
0.051241 + 0.4440071

0.382966 + 0.3056361
0.015592 + 1.1486701 | —2.38212 — 0.336381 | —5.62748 — 1.674561
1.170900 + 0.0796351

>~ Q@ €| @ €|l & &8> & &

0.382966 — 0.3056361
0.015592 — 1.1486701 | —2.38212 + 0.336381 | —5.62748 + 1.674561
1.170900 — 0.0796351

11



ILrr=(b-1, —ud+a+2u, u>* —u* —2u3+u2+u+1
2

(i) Arc colorings

Ay =

ag =

as =

ag =

(
(
(
(
(
(
(
(
(

o= (1)

(ii) Obstruction class =1

(iii) Cusp Shapes = 5u3 —u? — 8u — 9
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(iv) u-Polynomials at the component

Crossings u-Polynomials at each crossing

€1 (u—1)°

C2,Cq (u =+ 1)5

C3, Ct u5
s ud —3ut +4ud —u? —u+1
6 wWHut =2 — P +u—1

cg, C11 u’ +ut +2uP o Fu

Cg, C10 Wt =2+ tu+1

13



(v) Riley Polynomials at the component

Crossings Riley Polynomials at each crossing
5
C1,C2,C4 (y_l)
C3,Cr7 y5
€ -yt 8y =3 +3y—1
C6,C9, C10 y5_5y4+8y3_3y2_y_1
Cs, C11 V3t A+ -y -1

14



(vi) Complex Volumes and Cusp Shapes

Solutions to I3 VvV—1(vol + /—1CS) Cusp shape
u=—1.21774
a= 0.629714 —4.04602 —9.76980
b= 1.00000

u = —0.309916 + 0.5499111
a= 0.871221 — 1.1076601 | —1.97403 + 1.530581 | —5.05737 — 4.097641
b= 1.00000

u = —0.309916 — 0.5499111
a= 0.871221 + 1.1076601 | —1.97403 — 1.530581 | —5.05737 + 4.097641
b= 1.00000

u= 141878+ 0.219171
a = —0.186078 + 0.8746461 | —7.51750 — 4.400831 | —9.05774 + 4.189671
b= 1.00000

uw= 141878 —0.219171
a = —0.186078 — 0.8746461 | —7.51750 + 4.400831 | —9.05774 — 4.189671
b= 1.00000

15



ITI. u-Polynomials

Crossings u-Polynomials at each crossing
c1 ((w—1)%)(uS — 6uS3 + - + 3u —1)
€2 (w4 1)%)(u® +30u%3 + - - + 3u + 1)
c3,C7 uP (u® + u® 4 -+ 96u + 32)
4 ((uw+1)%) (b — 6uS3 + - 4+ 3u—1)
& (u® — 3u* + 4u® —u? —u+ 1) (u —6u® + -+ 5u —1)
6 (u® +ut =20 —u? 4 u—1) (W + 205+ Fu—1)
cs (u® 4+ u* 4 2u® + u® +u+ 1)(u® — 2053 + . + 8204u — 1960)
¢y, C10 (w® —ut =20+ +u+ 1) (W + 205+ Fu—1)
c11 (u® 4+ ut 4 2u® + u? +u+ 1) (u® + 1405 + - -+ 4 2787w + 207)

16



IV. Riley Polynomials

Crossings Riley Polynomials at each crossing

c1, ¢ ((y—1)°) (™ = 30y% + - =3y +1)
€2 (=" (™ + 1495 + - + 13y + 1)

¢, 7 Y (y5 — 33y%3 + .- — 14848y + 1024)
s (" —y* +8y° =3y +3y — (™ —2y% + - — 9y +1)

C6,C9,C10 (y° — 5yt + 8% =32 —y — 1)(y% —58yB + - —y +1)
cs (v° +3y" +4y°> +y* —y - 1)
(Y% — 18y5% 4 ... — 40328176y + 3841600)

11 (5 + 3y + 49 + 9y —y — 1)(y% + 18y%% + - - + 1021851y + 42849)
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